MINIMO COMUN MULTIPLO

Escribiendo los multiplos e identificando al menor de los
comunes.

l.a m.c.m 2y3:

m2={O0O OO OO-}
m3:{OO OO O .}
m(2,3) = ={OO b

mcm (2,3) = O

1.b m.c.m6y8:

me={OO OO OO0 O -1
m={OO0 OO0 QOO -
m(6,8) = ={OO .}

mcm (6,8) = O

Por descomposicion separada:

2.am.cml2y 18:

12 ] 18 [ ]
L] L] L1 L]
L1 L1
[] [ ]



] L]
12= ] X [] 18=[ ] X[ ]

] []
mcm 12y 18 =L ] x [

2.bm.ccm 15y 25:

15 [] 25 [ ]
L] L 1L
] [
15=["] X [] 25=|:|D
L]

mcm 15y 25 =D X D

Procedimiento abreviado:

3.am.cmldy 21:

14 21 |[]
L LI O

OO
L1 [

mem 14y21 =[] X[ ] X [ ] =[]



